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Subject Number of questions 
Polity 20 

Modern India 20 

Biology 25 

Geography 20 

Current Affairs 25 

Mental ability  40 

Total number of questions 150 (2 ½ Hrs) 
 

 
 

1. Indian Polity 
i. Constitutional Bodies – Election Commission, Union Public Service 

Commission, State Public Service Commission, Finance Commission, 
Comptroller and Auditor General, Attorney General of India, Advocate 
General of State 

ii. Non-Constitutional Bodies – NITI Aayog, Planning Commission, National 
Development Council, CBI, CVC, Lokpal and Lokayuktas 
 
 

2. Modern India 
i. Indian National Movement (1885 – 1947) 

a. Era of Moderates 
b. Era of Extremists 
c. Gandhian Era 

ii. Role of Tamilnadu in freedom struggle 
iii. Growth of rationalist, Dravidian Movement in Tamilnadu 
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3. Biology 
i. Cell 
ii. Nutrition and dietetics 
iii. Respiration 
iv. Endocrine system 
v. Blood and blood circulation 

 
4. Geography 

i. Earth and universe 
ii. Solar system 
iii. Atmosphere 
iv. Forest & wildlife 

 
 

5. Current Affairs 
i. July 2019 

 
6. Mental Ability 

i. 7th Std Life Mathematics 
ii. 9, 10th Std - Volume  

 
Reference 
 

 Modern India – 8, 10, 12th STD School Books, History of Indian Freedom 
Struggle – G.  Venkatesan, Appolo Materials 
 

 Indian Polity – Laxmikanth, Appolo Materials 
 

 Geography – 6, 7 STD school books, Appolo Materials 
 

 Biology – 6 to 12th STD School Books, Appolo Materials 
 

 Mental Ability – 7th, 9th, 10th Std Maths Samacheer old Book, 
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REFERENCE HALL ACCESS TEST – 2019 

GROUP I PRELIMINARY 
 

1. What was the original name of INC? 
A. Indian National Congress B. Indian National Conference 
C. Indian National Union D. Indian Union 
,e;jpa Njrpa fhq;fpurpd; Muk;gfhy ngah; ahJ? 
A. ,e;jpa Njrpa fhq;fpu]; B. ,e;jpa Njrpa khehL 
C. ,e;jpa Njrpa a+dpad; D. ,e;jpa a+dpad; 

 
2. Who was the congress president at the time of Jallian Walabagh Massacre? 

A. Motilal Nehru   B. Jawaharlal Nehru 
C. Madanmohan Malaviya D. Hakkim Ajmal Khan 
[hypad; thyhghf; gLnfhiyapd; NghJ fhq;fpu]; jiytuhf ,Ue;jth; ahh;? 
A. Nkhjpyhy; NeU   B. [t`h;yhy; NeU 
C. kjd;Nkhfd; khstpah  D. `f;fpk; m[;ky; fhd; 

 
3. Which among the following is correct? 

A. Unhappy India   - Gokale 
B. Making of a Nation  - Lalalajpati Roy 
C. Philosophy of Bomb  - Aurobindo Gosh 
D. Indian Unrest    – Valentine Chirol  
rhpahd ,iziaf; fhz;f 
A. Unhappy India   - NfhfNy 
B. Making of a Nation  - yhyhy[gjp uha; 
C. Philosophy of Bomb  - mugpe;Njh Nfh~; 
D. Indian Unrest    – thyd;ild; rpNuhy; 

 
4. Which year Tagore founded Viswabharathi University? 

A. 1923  B. 1922  C. 1921  D. 1924 
jh$h; ve;j Mz;L tp];tghujp gy;fiyfofj;ij Njhw;Wtpj;jhh;? 
A. 1923  B. 1922  C. 1921  D. 1924 

 
5. Name the First All India Struggle Launched by Gandhi in India 

A. Champaran Satyagraha B. Ahmedabad Mill Strike 
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C. Kheda Satyagraha  D. Anti-Rowlatt Satyagraha 
fhe;jpahy; elj;jg;gl;l Kjy; mide;jpe;jpa Nghuhl;lj;jpd; ngah; vd;d? 
A. rk;guhd; rj;jpahfpufk;  B. mfkjhghj; kpy; NtiyepWj;jk; 

C. Nfjh rj;jpahfpufk;  D. nusyl; rl;lj;jpw;F vjpuhd rj;jpahfpufk; 
 

6. The institution of Lok Ayukta was established first in 
A. Orissa        B. Rajasthan C. Andhra Pradesh        D. Maharashtra 
Nyhf; MAf;jh mikg;G Kjd; Kiwahf epWtg;gl;l khepyk;  
A. xhprh    B. uh[];jhd; C. Me;jpu gpuNjrk;  D. k`huh~;buk;  

 
7. In which year the Election Commission issued the ‗election symbols order‘ under 

which political parties had to register themselves with the commission? 
A. 1952  B. 1968  C. 1971  D. 1989 
murpay; fl;rpfs; jq;fspd; fl;rp rpd;dk; njhlh;ghf Njh;jy; Mizaj;jplk; gjpT 
nra;J nfhs;s Ntz;Lk; vd;gJ njhlh;ghd. “Njh;jy; rpd;d cj;jutpid” ve;j 
Mz;L Njh;jy; Mizak; gpwg;gpj;jJ? 

A. 1952  B. 1968  C. 1971  D. 1989 
 

8. Which Article ensures Bar to interference by Courts in electoral matters? 
A. 325       B.  328       C.  324  D. 329 
ve;j rl;lf;$W Njh;jy; eilKiwfspy; ePjpkd;wq;fs; jiyapLtij jLf;fpwJ? 
A. 325       B.  328       C.  324  D. 329 

 
9. The administrative vigilance division was created in 1955 by the 

A. Ministry of trade     B. Ministry of home affairs 
C. Ministry of Finance       D. Ministry of defence 
1955-y; eph;thf Coy; fz;fhzpg;G gphpit cUthf;fpaJ 
A. th;j;jfj; Jiw mikr;rfk;  B. cs;Jiw mikr;rfk;  
C. epjp mikr;rfk;    D. ghJfhg;Gj; Jiw mikr;rfk;  

 
10. Consider the following statements 

I. Lok Adalats was introduced in 1986 
II. Lokpal was introduced in 1968 
A. I correct, II incorrect  B. I incorrect, II correct 
C. Both are correct   D. Both are incorrect 
gpd;tUtdtw;iw Ma;f 
I. Nyhf; mjhyj; Njhw;Wtpf;fg;gl;l Mz;L 1986 
II. Nyhf;ghy; Njhw;Wtpf;fg;gl;l Mz;L 1968 
A. I rhp> II jtW   B. I jtW> II rhp 
C. ,uz;Lk; rhp   D. ,uz;Lk; jtW 

 
11. The lateral Surface area and Total surface area of the cube having side 24 cm are 

respectively. 
A. 3204 cm2, 4365 cm2  B. 4302 cm2, 6534 cm2 
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C. 2304 cm2, 3456 cm2  D. 2340 cm2, 5634 cm2 
gf;f msT 24 cm cila xU fdrJuj;jpd; gf;fgug;G kw;Wk; nkhj;jg; gug;G 
vd;gJ KiwNa 
A. 3204 nrkP2> 4365 nrkP2  B. 4302 nrkP2> 6534 nrkP2 
C. 2304 nrkP2> 3456 nrkP2  D. 2340  nrkP2> 5634 nrkP2 

 
12. How many hollow blocks of size 30 cm × 15 cm × 20 cm are needed to construct a 

all 60m in length, 0.3m in breadth and 2m in height.  
A. 2000  B. 4000  C. 40,000   D. 20,000 
ePsk; 60 kP> mfyk; 0.3 kP> cauk; 2 kP cila Rth; vOg;g 30 nr.kP × 15 nr.kP × 
20 nr.kP msT nfhz;l nrq;fw;fs; vj;jid Njit? 
A. 2000  B. 4000  C. 40,000   D. 20,000 

 
13. If a cube which is painted white top and red other 5 sides is cut into 64 identical 

small cubes using cuts parallel to the sides, how many of the smaller cubes have all 
their sides unpainted?  
A. 8   B. 4    C. 2        D. 1  
xU fdrJuj;jpd; Nky; gf;fk; nts;is th;zKk;> kw;w 5 gf;fq;fs; rptg;G 
th;zKk; G+rg;gl;Ls;sJ. ,J 64 xNu khjphpahd fd rJuq;fshf Jz;L 
Nghlg;gLfpwJ. Jz;L Nghl ntl;Lfs; fdrJuj;jpd; gf;fq;fSf;F ,izahf 
mikfpd;wd. ,e;j rpwpa fdrJuq;fspy; vj;jid> ve;j gf;fKk; th;zk; 
G+rg;glhjit? 
A. 8   B. 4    C. 2        D. 1  

 
14. Raju planned to stitch a cover for his two speaker boxes whose length, breadth and 

height are 35 cm, 30 cm and 55 cm respectively. Find the cost of the cloth he has to 
buy if it costs ` 75 per sq.m. 
A. ` 223   B. ` 93  C. ` 123   D. ` 155 
ePsk;> mfyk; kw;Wk; cauk; 35 nr.kP> 30 nr.kP. kw;Wk; 55 nr.kP msTila ,U 
xypg; ngUf;fpfSf;F uh[{ ciw ijf;fj; jpl;lkpl;lhd;. ciw ijf;f xU rJu 
kPl;lUf;F MFk; nryT ` 75 vdpy;> nkhj;j nryitf; fhz;f. 
A. ` 223   B. ` 93  C. ` 123   D. ` 155 

 
15. Three solid cubes of sides 1 cm, 6 cm and 8 cm are melted to form a new cube. Find 

the total surface area of the cube so formed? 
A. 384 cm2  B. 456 cm2  C. 486 cm2  D. 430 cm2 
1 nr.kP> 6 nr.kP. kw;Wk; 8 nr.kP. gf;fq;fis cila %d;W fd rJuq;fis 
cUf;fp xU Gjpa fd rJuk; nra;jhy;> mjd; nkhj;j Gwg; gug;gsT vd;d? 
A. 384 cm2  B. 456 cm2  C. 486 cm2  D. 430 cm2 

 
16. The major element of the inner core of the earth from the following is  

A. silicon  B. oxygen   C.sulfur  D. iron 
gpd;tUtdtw;Ws; Gtpapd; cl;fU gFjpapy; mjpfk; fhzg;gLgit 
A. rpypf;fd;  B. Mf;]p[d;  C. ry;gh;  D. ,Uk;G 
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17. The average depth of the world oceans 

A. 3890 meters  B. 3700 meters  
C. 3899 meters  D. 6000 meters 
cyfpy; cs;s Nguhopfspd; ruhrhp Mok; 

A. 3890 kPl;lh;fs;  B. 3700 kPl;lh;fs;  
C. 3899 kPl;lh;fs;  D. 6000 kPl;lh;fs; 

 
18. Consider the following statements 

I. The sun is a medium sized star 
II. It is about two billion years old 
III. It consist of almost entirely of hydrogen and helium 
Which of the statements given above is/are correct? 
A. I only  B. I and II  C. I and III  D. I, II and III  
nfhLf;fgl;lLs;s thf;fpaq;fis ftdp 
I. #hpad; eLj;ju msT nfhz;l el;rj;jpuk; 
II. Vwf;Fiwa ,uz;L gpy;ypad; Mz;Lfs; taJ nfhz;lJ 
III. #hpadpy; i`l;u[d; kw;Wk; `Pypak; thAf;fs; ngUkstpy; fhzg;gLfpd;wd 
NkNy nfhLf;fg;gl;Ls;s thf;fpaq;fspy; rhpahd thf;fpak;/thf;fpaq;fs;  ahit? 
A. I kl;Lk;  B. I kw;Wk; II C. I kw;Wk; III D. I, II kw;Wk; III 

 
19. Consider the following statements about planets and choose the correct  ones 

I. The planet which has maximum no. of satellite – Earth 
II. The superior planets are – Mars, Jupiter, Saturn 
III. The planets with maximum Albedo – Mercury, Venus 
IV. The planet which is close to the Sun – Mercury 

 A. I, II and III only     B. II, III and IV only 
 C. I, II, III and IV     D. II and IV only 
 Nfhs;fisg; gw;wpa $w;Wfis Ma;f: 
 ,tw;Ws; vit rhpahdit? 

I. mjpf vz;zpf;if nfhz;l Jizf;Nfhs;fs; cila Nfhs; - G+kp 
II. Nra;ikapy; cs;s Nfhs; - nrt;tha;> tpahod;> rdp 
III. mjpf My;ngNlh kjpg;Gs;s Nfhs;fs; - Gjd; nts;sp 
IV. #hpaDf;F mUfpy; cs;s Nfhs; - Gjd; 

 A. I, II kw;Wk; III kl;Lk;    B. II, III kw;Wk; IV kl;Lk; 
 C. I, II, III, IV Mfpa midj;Jk;  D. II kw;Wk; IV kl;Lk;  
 
20. Match List I and List II and select the correct answer using the codes given  below: 
 List I     List II 
 a. Troposphere   1. Ultra Violet rays 
 b. Stratopshere   2. Radiowaves 
 c. Ozonosphere   3. Movement for jet planes 
 d. Ionosphere   4. Weather changes 
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  a b c d 
 A 3 4 2 1 
 B 4 2 1 3 
 C 2 3 1 4 
 D 4 3 1 2 
 gl;bay; I cld; gl;bay; II-Ald; nghUj;Jf: 
 gl;bay; I    gl;bay; II 
 a. l;Nuhg;Ngh];gpah;   1. Gw Cjh fjph;fs; 

 b. ];bNul;Nlh];gpah;  2. NubNah miyfs; 
 d. XNrhNdh];gpah;   3. n[l; thD}h;jp gwf;Fk; gFjp 

 d. mNahNdh];gpah;  4. thdpiy khw;wk; 
   a b c d 
 A 3 4 2 1 
 B 4 2 1 3 
 C 2 3 1 4 
 D 4 3 1 2 
 
21. Which space agency has launched the ―Dragonfly Mission‖ to explore Saturn‘s 

largest moon – titan? 
A. ISRO B. ROSCOSMOS  C. NASA   D. CNES 
rdp Nfhspd; kpfg;nghpa epythd ill;lid Muha ve;j tpz;ntsp epWtdk; 
“buhfd; gpis kp~id” cUthf;fpAs;sJ? 
A. ISRO B. ROSCOSMOS  C. NASA   D. CNES 
 

22. The yearlong Mosaic mission is the expedition into which of the following oceans? 
A. Pacific Ocean   B. Antarctic Ocean 
C. Indian Ocean   D. Arctic Ocean 

 nkhirf; flw;gaz jpl;lk; ve;j flypy; elj;jg;gl;Ls;sJ? 
 A. grpgpf; fly;   B. mz;lhh;bf; fly; 
 C. ,e;jpa fly;   D. Mh;bf; fly; 
 

23. The scientist of which country have developed a concept named Ramanujan 
Machine? 
A. U.S.A   B. Israel  C. Japan  D. Russia 
uhkhD[d; nk~pd; vd;w jpl;lj;ij ve;j ehl;L tpQ;Qhdp cUthf;fpAs;shh;? 
A. mnkhpf;fh  B. ,];Nuy;  C. [g;ghd;  D. u~;ah 
 

24. Consider the following statements 
1. Chandrayan -2 – India‘s 2nd Lunar mission will explore and perform studies on 

south pole of the moon 
2. For the first time, an interplanetary mission is led by two women – Muthaya 

Vanitha (the project director) & Ritu karidhal (the mission director) 
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3. The lander ‗Vikram‘, named after father of Indian space research programme 
Dr.Vikram A. Sarabhai 

Which of the above statement is true? 
         A. Statement 1& 2   B. Statement 2& 3 
         C. Statement 1& 3   D. All the above     
 gpd;tUk; $w;Wfis Ma;f 

1. re;jpuhad; 2 ,e;jpahtpd; 2tJ Y}dhh; kp~dhdJ epytpd; njd; JUtj;ij 
Muha;tjw;fhf cUthf;fg;gl;ljhFk;. 

2. Kjd; Kjypy; ,uz;L ngz;fs; Kj;ija;ah tdpjh jpl;l ,af;FeuhfTk;> hPJ 
fhpjhy; kp~dpd; ,af;FeuhfTk; epakpf;fg;gl;Ls;sdh; 

3. tpf;uk; Nyz;lh; vd;gJ ,e;jpa tpz;ntsp Muha;r;rpapd; je;ij tpf;uk; rhuhgha; 
epidthf itf;fg;gl;lJ. 

rhpahd $w;Wfis fhz;f 
A. 1 kw;Wk; 2   B. 2 kw;Wk; 3 
C. 1 kw;Wk; 3   D. ,it midj;Jk; 

 
25. Where is the headquarters of Central Marine Fisheries Research Institute? 

A. Kolkatta  B. Kochi  C. Shillong  D. Chennai 
 kj;jpa fly; kPd;fs; Muha;r;rp epWtdj;jpd; jiyikafk; vq;F mike;Js;sJ? 
 A. nfhy;fj;jh B. nfhr;rp  C. rpy;yhq;  D. nrd;id 
 

26. Two cubes each of volume 216 cm3 are joined to form a cuboid.  The total surface 
area of the resulting cuboid is (in cm2)  
A. 120   B. 360   C. 300  D. 240 
216 cm3 fd msT nfhz;l ,U fd rJuq;fs; ,uz;ilAk; Nrh;j;J xU  fd 
nrt;tfk; cUthf;ffg;gLfpwJ. me;j fd nrt;tfj;jpd; nkhj;j gf;f  gug;gpd; 
kjpg;G (r.nr.kP) 
A. 120   B. 360   C. 300  D. 240 

 
27. The volume of a cuboid is twice the volume of a cube. If the dimensions of the 

cuboid are 9cm, 8 cm and 6 cm, the total surface area of the cube is: 
A. 72 cm2  B. 216 cm2  C. 432 cm2   D. 108 cm2 
xU fd nrt;tfj;jpd; fdmsT> xU fd rJuj;jpd; fd msitg; Nghy 
,uz;Lklq;F MFk;. me;j fd nrt;tfj;jpd; gf;fq;fs; 9 nrkP> 8 nrkP kw;Wk; 6 
nrkP vdpy;> me;j fd rJuj;jpd; nkhj;jg; gug;gsT vt;tsT?  
A. 72 r.nrkP  B. 216 r.nrkP  C. 432 r.nrkP   D. 108 r.nrkP 

 
28. A tank is 25 m long and 16m wide. If water is poured into it upto the height of ½m 

from the bottom, what will be the volume of water in cu metre? 
A. 400   B. 100   C. 200   D. 220 
xU njhl;b 25kP ePsKk; 16kP mfyKk; nfhz;Ls;sJ. mjd; mbg;gFjpapy; ,Ue;J 
miu kPl;lh; cauj;jpw;F jz;zPh; Cw;wg;gl;lhy;> me;jj; jz;zPhpd; fd msT 
vj;jid fd kPl;lh;? 
A. 400   B. 100   C. 200   D. 220 
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29. The ratio between the base radius and the height of a solid right circular cylinder is 

2:5. If its curved surface area is 
3960

7
 sq.cm. Find the height and radius 

A. h = 15 cm r= 6 cm    B. h = 6 cm r = 15 cm 
C. h = 14 cm r = 5 cm    D. h = 5 cm r = 14 cm 
xU jpz;k Neh;tl;l cUisapd;> MuKk; cauKk; 2:5 vd;w tpfpjj;jpy; cs;sd. 

mjd; tisg;gug;G 
3960

7
r.nr.kP vdpy; cUisapd; cauk; kw;Wk; Muk; fhz;f.  

A. cauk; = 15 nr.kP Muk; = 6 nr.kP B. cauk; = 6 nr.kP Muk; = 15 nr.kP  
C. cauk; = 14 nr.kP Muk; = 5 nr.kP  D. cauk; = 5 nr.kP Muk; = 14 nr.kP 

 
30. A boy cut a sector containing an angle of 120° from a circle of radius 21 cm and he 

folded the sector into a cone. What is the curved surface area of the cone  
A. 572 sq. cm        B. 231 sq. cm C. 462 sq. cm         D. 257 sq. cm 
21 nr.kP MuKs;s xU tl;lj;jpypUe;J 120° ikaf;Nfhzk; nfhz;l xU 
tl;lf;Nfhzg; gFjpia xU khztd; ntl;bnaLj;J mjd; Muq;fis xd;wpizj;J 
xU $k;ghf;fpdhy;> fpilf;Fk; $k;gpd; tisgug;G vd;d?  
A. 572 sq. cm        B. 231 sq. cm C. 462 sq. cm         D. 257 sq. cm 

 
31. India‘s first dragon blood – oozing tree has been discovered in which state? 

A. Meghalaya   B. Assam 
C. Manipur    D. Arunachal Pradesh 

 ,e;jpahtpd; Kjy; Dragon blood – Oozing kuk; vq;F fz;lwpag;gl;Ls;sJ? 
 A. Nkfhyah   B. m];]hk; 

C. kzpg;g+h;    D. mUzhr;ryg;gpuNjrk; 
 
32. Which of the following is not seen in the protoplasm? 

A. Cell wall     B. Nucleus   
C. Endoplasmic reticulum  D. Golgi bodies 
fPo;tUtdtw;Ws; vJ GNuhl;Nlhgpshrj;jpy; ,y;iy? 
A. nry;Rth;     B. epA+f;spa];  

C. vz;Nlhgpsh] tiy   D. Nfhy;fp cWg;Gfs; 
 
33. Match the following and choose the correct option: 

a. Robert Hooke   1. RBC and Yeast cell    
b. Robert Brown   2. Cell theory   
c. Leeuwenhoek   3. Discovery of cell   
d. Schleiden    4. Discovery of nucleous 
 a b c d 
A. 1 2 3 4 
B. 3 4 1 2 
C. 2 3 4 1 
D. 3 4 2 1 
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fPNo jug;gl;litfs; nghUj;jp rhpahd tpiliaj; Njh;e;njLf 
a. uhgh;l; `_f;   1. rptg;gZ kw;Wk; aP];l; nry;    

b. uhgh;l; g;uTd;   2. nry; nfhs;if    

c. yPtd;`_f;   3. nry; fz;Lgpbg;G   
d. ];fpspld;    4. epAf;spa]; fz;Lgpbg;G 
 a b c d 
A. 1 2 3 4 
B. 3 4 1 2 
C. 2 3 4 1 
D. 3 4 2 1 

 
34. Which cytoplasmic organelle is associated with 'acrosome' formation in the 

spermatozoa of animals? 
A. Lysosome          B. Chloroplast  
C. Golgi complex         D. Chromosome 
tpyq;Ffspd; tpe;J nry; cw;gj;jpapy; „Vf;NuhNrhk;‟ vd;w mikg;ig cUthf;Fk; 
nry; Ez;ZWg;G vJ? 
A. iyNrhNrhk;   B. gRq;fzpfk;   
C. Nfhy;if cWg;Gfs;  D. FNuhNkhNrhk; 

 
35. A feature common to nucleus, chloroplast and mitochondria is the presence of  

A. Lamella           B. Cristae   
C. Nucleic acid              D. Nucleolus 
epa+f;spa];> gRq;fzpfk; kw;Wk; ikl;Nlhfhz;bhpahtpd; nghJg; gz;G  
A. yhnky;yh  B. fphp];Nl   
C. epa+f;spf; mkpyk; D. epa+f;spNahy]; 

 
36. Who used the word ―Taxonomy‖ for the first time? 

A. Linnaeus     B. Aristotle   
C. Augustin-Pyramus de Candolle D. Theophrastus 
“tifg;ghl;bay;” vd;w thh;j;ijia Kjd;Kjypy; gad;gLj;jpath; ahh;? 
A. ypd;Nda];    B. mhp];lhl;by;  
C. mf];bd; iguk]; b Nfd;Nlhy; D. jpNahgpuh];l]; 

 
37. Who among the following described the educated Indian Community of the Indian 

National Congress as ‗microscopic minority‘? 
A. Lytton  B. Curzon  C. Dufferin  D. Sir John Lawrence 
fPo; Fwpg;gpl;lth;fspy; ,e;jpa Njrpa fhq;fpu]py; cs;s gbj;j ,e;jpa FOtpdiu 
“Ez;zpa rpWghd;ikapdh;”  vd;W $wpath; ahh;? 
A. ypl;ld;   B. fh;rd;   C. l/g;hpd;   D. rh; [hd; yhuhd;]; 
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38. The song ‗Jana-Gana-Mana‘ composed by Rabindranath Tagore was first Sung at 
the Calcutta session of the Indian National Congress on 
A. 24 January 1911  B. 27 December 1911  
C. 23 December 1911  D. 26 December 1911 
,utPe;jpuehj; jh$h; vOjpa „[d-fd-kd‟ ghly; Kjd; Kjyhf> fy;fj;jhtpy; 
eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; ghlg;gl;l ehs; 
A. 24 [dthp 1911   B. 27 brk;gh; 1911   
C. 23 brk;gh; 1911  D. 26 brk;gh; 1911 

 
39. Bipin Chandra Pal addressed a huge crowd assembled on Marina Beach during the 

year. 
A. 1908   B. 1907  C. 1906  D. 1905 
nkhpdh flw;fiuapy; gpgpd; re;jpughy; ve;j Mz;by; kpfg;nghpa $l;lk; xd;wpy; 
ciuahw;wpdhh;. 
A. 1908   B. 1907  C. 1906  D. 1905 

 
40. Who were known as ―No-Changers‖? 

1. Sardar Vallabhbhai Patel 2. Dr. Ansari    
3. Rajaji     4. Sathyamoorthy 
A. 1, 2 and 4 only        B. 2, 3 and 4 only  
C. 1, 3 and 4 only   D. 1, 2 and 3 only 
“khw;wk; tpUk;ghNjhh;” vd;W miof;fg;gl;lth;fs; ahh;> 
1. rh;jhh; ty;ygha; gl;Nly; 2. lhf;lh;. md;rhhp  
3. uh[h[p     4. rj;jpa%h;j;jp 
A. 1> 2 kw;Wk; 4 kl;Lk;   B. 2> 3 kw;Wk; 4 kl;Lk;  
C. 1> 3 kw;Wk; 4 kl;Lk;  D. 1> 2 kw;Wk; 3 kl;Lk; 

 
41. Who wrote the book the 'Broken Wings'? 

A. Sarojini Naidu    B. Mahatma Gandhi  
C. Subhash Chandra Bose D. Bagath Singh 
„Kwpe;j rpwFfs;‟ vd;w Gj;jfj;ij vOjpath; ahh;? 
A. rNuh[pdp ehAL   B. kfhj;kh fhe;jp  
C. Rgh~; re;jpu Ngh];   D. gfj;rpq; 

 
 
42. In which year the Central Vigilance Commission was enacted by the Parliament as 

a statutory body? 
A. 2002   B. 2003  C. 2005  D. 2004 
kj;jpaf; fz;fhzpg;Gf; FOit ve;j Mz;L ghuhSkd;wk; xU rl;lg;G+h;t mikg;ghf 
mwptpj;jJ? 
A. 2002   B. 2003  C. 2005  D. 2004 
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43. A hollow cylindrical iron pipe is of length 28 cm.    Its outer and inner diameters 
are 8 cm and 6 cm respectively. Find the volume of the pipe and weight of the pipe 

if 1 cu.cm of iron weighs 7 gm. (Take    =
22

7
 ) 

 A. 4.312 kg   B. 2.156 kg   C. 8.624 kg   D. 7.93 kg 
 xU cs;sPlw;w ,Uk;G Fohapd; ePsk; 28 nr.kP mjd; ntsp kw;Wk;  cs;tpl;lq;fs; 

KiwNa 8 nr.kP kw;Wk; 6 nr.kP vdpy;> ,Uk;Gf; Fohapd;  vilia fhz;f. (1 

f.nr.kP. ,Uk;gpd; vil 7 fpuhk;)   = 
22

7
 

 A. 4.312 kg   B. 2.156 kg   C. 8.624 kg   D. 7.93 kg 
 
44. A cup is in the form of a hemisphere surmounted by a cylinder.  The height of the 

cylindrical portion is 8 cm and the total height of the cup is 11.5 cm. Find the total 

surface area of the cup.     (Take   = 
22

7
  ) 

A. 235 sq.cm  B. 352 sq.cm  C. 275 sq.cm  D. 253 sq.cm 
xU Nfhg;igahdJ miuf; Nfhsj;jpd; kPJ cUis ,ize;j tbtpy; cs;sJ.  
cUisg; gFjpapd; cauk; 8 nr.kP. kw;Wk; Nfhg;igapd; nkhj;j cauk; 11.5 kP 

vdpy; Nfhg;igapd; nkhj;jg; gug;G fhz;f. (  = 
22

7
) 

A. 235 sq.cm  B. 352 sq.cm  C. 275 sq.cm  D. 253 sq.cm 
 
45. Spherical shaped marbles of diameter 1.4 cm each, are dropped into a cylindrical 

beaker of diameter 7 cm containing some water. Find the number of marbles that 
should be dropped into the beaker so that the water level rises by 5.6 cm. 
A. 250   B. 150   C. 75   D. 300 
7 nr.kP tpl;lKs;s cUis tbt Kfitapy; rpwpjsT jz;zPh; cs;sJ.  mjpy; 
xt;nthd;Wk; 1.4 nr.kP tpl;lKs;s rpy Nfhs tbt gspq;Ff; fw;fs; Nghlg;gLfpwJ.  
cUisapYs;s ePhpd; kl;lk; 5.6 nr.kP cau vj;jid gspq;F fw;fis 
KfitapDs; Nghl Ntz;Lk; vdf; fhz;f? 
A. 250   B. 150   C. 75   D. 300 

 

46. A cylindrical iron pillar 49cms high and 6cms in radius is surrounded by a cone 14 
cms high. The volume of pillar is  
A. 5981 cm3   B. 6072 cm3   C. 7012 cm3   D. 8154 cm3   

xU ,Uk;ghyhd cUis tbt J}zpd; Nkw;Gwk; $k;G ,ize;Js;sJ.  
 cUisapd; cauk; 49 nr.kP> Muk; 6 nr.kP> NkYk; $k;gpd; cauk; 14 nr.kP 
vdpy; 
J}zpd; fd msT ahJ? 
A. 5981 nr.kP3  B. 6072 nr.kP3  C. 7012 nr.kP3  D. 8154 nr.kP3 

 

47. If the volume of the solid sphere 7241 1
7

 cubic cm., Find its radius. 

  A. 13 cm  B. 10 cm  C.11 cm  D. 12 cm 
 xU jpz;k Nfhsj;jpd; fd msT 7241 1

7  f.nr.kP vdpy; mjd; Muj;ij fhz;f. 

 A. 13 nr.kP  B. 10 nr.kP  C.11 nr.kP  D. 12 nr.kP 
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48. Point out the incorrect statement in the following:  
A. The Comptroller and Auditor General of India is a Constitutional Authority  
B. The Comptroller and Auditor General of India does not audit the accounts of 

State Governments. 
C. The Comptroller and Auditor General of India is the head of the Indian Audit 

and Accounts Department 
D. He is the external auditor of Government – Owned Companies  
fPo;f;fz;l fUj;Jf;fspy; jtwhdij Rl;bf; fhz;gpf;fTk;  
A. ,e;jpahtpd; jiyik fzf;F kw;Wk; jzpf;if mjpfhhp xU murpayikg;G 

rhh;e;j mjpfhhpahthh;  
B. khepy muRfspd; fzf;Ffis ,e;jpahtpd; jiyik fzf;F kw;Wk; jzpf;if 

mjpfhhp jzpf;if nra;akhl;lhh;. 
C. ,e;jpa jzpf;if kw;Wk; fzf;F Jiwf;F ,e;jpahtpd; jiyik fzf;F kw;Wk; 

jzpf;if mjpfhhp jiyth; Mthh; 
D. ,th; murhq;fj;jpw;F nrhe;jkhd fk;ngdpfSf;F jzpf;if mjpfhhp Mthh;  

 
49. Right to vote in India is a 
 A.  Natural Right   B.  Legal Right  
 C.  Fundamental Right  D.  Constitutional Right 
 ,e;jpahtpy; Xl;Lhpik vd;gJ 
 A. ,aw;if chpik  B. rl;l chpik 

 C. mbg;gil chpik  D. murpayikg;G chpik 
 
50. The Lokpal and Lokayukta Bill 1968 passed by the Lok Sabha lapsed because  
 A. Rajya Sabha rejected the bill    
 B. President with held the bill 
 C. Joint Committee of the two houses rejected the bill 
 D. Of early dissolution of fourth Lok Sabha  
 1968-k; Mz;L kf;fsitahy; epiwNtw;wg;gl;l Nyhf;ghy; kw;Wk; Nyhf;  mAf;jh 

kNrhjh fhytjpahdJ. Vnddpy;  
 A. khepyq;fs; mit mk;kNrhjhit epuhfhpj;jJ 

 B. FbauR jiytuhy; mk;kNrhjh epWj;jpitf;fg;gl;lJ. 
 C. ,uz;L mitfspd; $l;Lf;FO mk;kNrhjhit epuhfhpj;jJ 

 D. ehd;fhtJ kf;fsit Kd;$l;bNa fiyf;fg;gl;lJ 
 
51. Which article deals with the reports of the Comptroller and Auditor General of 

India? 
 A. Article 147 B. Article 149 C. Article 151 D. Article 153 

,e;jpa jiyikf; fzf;F jzpf;ifahshpd; mwpf;iffis tpsf;Ffpd;w rl;lf;$W 
vJ? 

 A. rl;lf;$W 147 B. rl;lf;$W 149 C. rl;lf;$W 151 D. rl;lf;$W 153 
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52. Match the following lists: 
List-I    List-II 
a. Neomycin  1. Streptomyces Fradiae 
b. Terramycin  2. Penicillium Notatum 
c. Viridin   3. Streptomyce Rimosus 
d. Penicillin   4. Gliocladium Virens 
 a b c d  
A. 3 1 4 2   
B. 3 4 1 2  
C. 1 3 4 2  
D. 4 1 2 3 
gpd;tUtdtw;iwg; nghUj;Jf 
 gl;bay; 1   gl;bay; 2 
a. epNahikrpd;   1. ];l;nug;Nlhikrp]; /g;ubNa 
b. nluhikrpd;   2. ngdprpypak; nehNllk; 

c. tphpbd;    3. ];l;nug;Nlhikrp]; hpNkhr]; 
d. ngdprpypd;   4. fpisNahf;Nsbak; tph;ud;]; 

 a b c d  
A. 3 1 4 2   
B. 3 4 1 2  
C. 1 3 4 2  
D. 4 1 2 3 

 
53. Match List I with List II correctly and select your answer using the codes given 

below: 
  List I   List II 

a. Vitamin B1  1. Pellagra 
b. Vitamin B5  2. Osteomalacia 
c. Vitamin B12  3. Anaemia 
d. Vitamin D  4. Beri-Beri 
 a b c d 
A. 1 2 3 4   
B. 1 4 3 2   
C. 4 1 3 2   
D. 4 2 3 1 
gl;bay; I-I gl;bay; II cld; nghUj;Jf 

 gl;bay; I    gl;bay; II 
a. itl;lkpd; B1    1. ngy;yhfuh 
b. itl;lkpd; B5   2. M];bNahkyhrpah 
c. itl;lkpd; B12   3. ,uj;j Nrhif 
d. itl;lkpd; D   4. nghp-nghp 
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 a b c d 
A. 1 2 3 4   
B. 1 4 3 2   
C. 4 1 3 2   
D. 4 2 3 1 

 
54. Heat shock proteins were first discovered in 

A. Drosophil   B. Arabidopsis Thaliana 
C. Pisum Satiyum   D. Mimosa Pudica 
ntg;g mjph;r;rp Gujk; Kjypy; vjpy; fz;Lgpbf;fg;gl;lJ? 
A. buhN]hgpy;   B. mugplhg;rp]; jhypahdh 

C. igrk; riltk;   D. ikNkhrhG+bfh 
 
55. Which one of the respiratory process is otherwise called as amphipholic cycle? 

A. Glycolysis    B. Kreb‘s cycle  
C. Phosphorylation   D. Pentose phosphate pathway 
ve;j Rthrpj;jy; epfo;r;rpia Mk;/gpNghypf; Row;rp vdTk; miof;fg; gLfpwJ? 
A. fpisf;Nfhiyrp];   B. fpug;]; Row;rp    

C. gh];gupfuzk;    D. ngd;Nlh]; gh];Ngl; topj;jlk; 
 
56. Using clay, a student made a right circular cone of height 48 cm and base radius 12 

cm. another student reshapes it in the form of sphere. Find the  radius of the 
sphere. 
A. 12 cm  B. 15 cm  C. 9 cm  D. 14 cm 
fspkz;izg; gad;gLj;jp xU khztd; 48 nr.kP cauKk; 12 nr.kP MuKk; nfhz;l 
Neh; tl;l jpz;kf; $k;igr; nra;jhh;. mf;$k;ig kw;nwhU khzth; xU jpz;kf; 
Nfhskhf khw;wpdhh;. mt;thW khw;wg;gl;l Gjpa Nfhsj;jpd; Muj;ijf; fhz;f.  
A. 12cm  B. 15 cm  C. 9 Cm  D. 14 Cm 

 
57. The volume of a solid right circular cone is 4928 cu.cm. If its height is 24cm then 

find the radius of the cone.  
22

7


 
 

 
 

A. 49 cm  B. 28 cm  C. 24 cm  D. 14 cm 
xU jpz;k Neh;tl;lf; $k;gpd; fd msT 4928 f.nrkP mjd; cauk; 24 nrkP vdpy; 

$k;gpd; Muk; fhz;f. ,q;F 
22

7


 
 

 
  

A. 49 nrkP  B. 28 nrkP  C. 24 nrkP  D. 14 nrkP 
 
58. Two right circular cones have equal radii. If their slant heights are in the ratio 4 : 3, 

then their respective curved surface areas are in the ratio 
A. 16 : 9  B. 8 : 6  C. 4 : 3  D. 3 : 4 
,uz;L $k;Gfs; rk Muq;fs; nfhz;Ls;sd. NkYk; mtw;wpd; rhAauq;fspd; tpfpjk; 
4 : 3 vdpy;> tisgug;Gfspd; tpfpjk; 
A. 16 : 9  B. 8 : 6  C. 4 : 3  D. 3 : 4  
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59. If the height and the base area of a right circular cone are 5 cm and 48 sq. cm 
respectively, then the volume of the cone is equal to  
A. 240 cm3  B. 120 cm3   C. 80 cm3  D. 480 cm3 

5 nr.kP cauKk;> 48 r.nr.kP mbg;gf;fg; gug;Gk; nfhz;l xU Neh; tl;lf; $k;gpd; 
fd msT  
A. 240 nr.kP3 B. 120 nr.kP3   C. 80 nr.kP3  D. 480 nr.kP3 

 
60. If the volume and the base area of a right circular cone are 48  cm3 and 12  cm2 

respectively, then the height of the cone is equal to  
A. 6 cm   B. 8 cm  C. 10 cm   D. 12 cm  
xU Neh; tl;lf; $k;gpd; fd msT kw;Wk; mbg;gf;fg; gug;G KiwNa 48 nr.kP3 

kw;Wk; 12 nr.kP2 vdpy;> mjd; cauk; 

A. 6 nr.kP  B. 8 nr.kP  C. 10 nr.kP  D. 12 nr.kP 
 
61. The total amount of energy released from one molecule of glucose on oxidation is 

about  
A. 2600 kJ  B. 2300 kJ  C. 2900 kJ  D. 2500 kJ 
xU %yf;$W FSf;Nfh]; KOikahd Mf;rp[Ndw;wj;jpd; NghJ ntspg;gLj;Jk; 
Mw;wypd; msT 
A. 2600 kJ  B. 2300 kJ  C. 2900 kJ  D. 2500 kJ 

 
62. ‗Hayabusa2‘ – an asteroid sample –return mission is operated by which country‘s 

space agency? 
A. China  B. Pakistan  C. Japan  D. United States 
Hayabusa2 vdg;gLk; rpWNfhs; khjphpj;jpl;lk; ve;j ehl;bd; tpz;ntsp epWtdj;jhy; 
,af;fg;gLfpwJ? 
A. rPdh  B. ghfp];jhd;  C. [g;ghd;  D. mnkhpf;fh 

 
63. Which year has been set as target year to make India as TB- free India? 

A. 2023  B. 2030  C. 2022  D. 2025 
fhrNehaw;w ,e;jpahit cUthf;Ftjw;F ve;j Mz;L ,yf;fhf 
eph;zapf;fg;gl;Ls;sJ? 
A. 2023  B. 2030  C. 2022  D. 2025 

 

64. The Rasagola which has received the Geographical Indication Tag is the popular 
dessert of which state? 
A. Odisha  B. Punjab  C. West Bengal  D. Haryana 
ve;j khepyj;jpd; urNfhyhtpw;F Gtprhh;f;FwpapL toq;fg;gl;lJ? 
A. xbrh  B. gQ;rhg;  C. Nkw;F tq;fk;  D. `hpahdh 
 

65. The Theme for 2019 International Cooperative Day (IDC) is 
A. Coops 4 Decent Work 
B. sustainable Societies through Cooperation 
C. Co-operatives ensure no one is left behind 
D. Co-operatives the power to act 
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2019Mk; Mz;bd; rh;tNjr $l;LwT jpdj;jpd; ikaf;fU ________ 
A. Coops 4 Decent Work 
B. sustainable Societies through Cooperation 
C. Co-operatives ensure no one is left behind 
D. Co-operatives the power to act 
 

66. Match the following: 
a. World day for International justice 1. July 17 
b. Nelson Mandela day   2. July 18 
c. 159th Income Tax day   3. July 24 
d. National Broadcasting day  4. July 23 
 a b c d 
A. 4 3 2 1 
B. 1 2 4 3 
C. 1 2 3 4 
D. 3 4 2 1 

 nghUj;Jf 
 a. rh;tNjr ePjp ehs;   1. [_iy 17 

 b. ney;rd; kz;Nlyh jpdk;  2. [_iy 18 
 c. 159tJ tUkhdthp jpdk;  3. [_iy 4 
 d. Njrpa xspg;gug;G jpdk;  4. [_iy 23 

 a b c d 
A. 4 3 2 1 
B. 1 2 4 3 
C. 1 2 3 4 
D. 3 4 2 1 

   
67. The International flower auction centre will be set in which district of Tamil Nadu? 

A. Hosur  B. Krishnagiri  C. Karamadai  D. Coimbatore 
rh;tNjr kyh;fs; Vy ikak; jkpo;ehl;by; ve;j khtl;lj;jpy; mikaTs;sJ? 
A. X#h;  B. fpU~;zfphp  C. fhukil  D. Nfhak;Gj;J}h; 

 
68. Isotherme are relatively more irregular in __________ 
 A. Southern Hemisphere  B. Northern Hemisphere 
 C. Polar region   D. Equator 
 rkntg;g NfhLfs; mjpfstpy; xOq;fw;wjhf fhzg;gLk; gFjp 
 a. njd; JUtk;   B. tl JUtk; 
 C. JUtg;gpuNjrk;   D. G+kj;jpa Nuif 
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69. Which of the following is incorrectly matched? 
I. March 21            -          Spring Equinox 
II. September 21     —        Autumn Equinox 
III. December 22      -         Winter solstice 
IV. June 21              —        Summer solstice 

 A. I    B. II  C. III       D. IV 
 gpd;tUtdtw;Ws; jtwhd nghUj;jk; vJ? 

I. khh;r; 21  - tre;jfhy rk ,uT gfy; 
II. nrg;glk;gh; 21  - ,iyAjph;fhy rk ,uT gfy; 
III. brk;gh; 22  - Fsph; rq;fpukzk; 
IV. [{d; 21  - ntg;g rq;fpukzk; 
A. I    B. II  C. III       D. IV 

 
70. Match the following: 
 a. Rhinoceros  1. Desert Plains of Rajasthan 
 b. Hangul   2. Kaziranga National Park 
 c. Gharial   3. Gorumara National Park 
 d. Great Indian Bustard 4. Dachigam National Park 
  a b c d 

A 4 3 4 2 
B 4 2 1 3 
C 3 1 2 4 
D 2 4 3 1 

 fPo;fz;ltw;iwg; nghUj;Jf: 
 a. fhz;lh kpUfk;   - 1. uh[];jhd; ghiytd rkntsp 
 b. `hq;fy;    - 2. fhrpuq;fh Njrpa G+q;fh 

 c. rJg;G epy Kjiy  - 3. fUkhuh Njrpa G+q;fh 

 d. fpNul; ,e;jpad; g];lh;l; - 4. lhrpfhk; Njrpa G+q;fh    
  a b c d 

A 4 3 4 2 
B 4 2 1 3 
C 3 1 2 4 
D 2 4 3 1 
 

71. A cone, a hemisphere and a cylinder stand on equal bases and have the same 
height. Find the ratio of their volumes 
A. 3 : 2 : 1  B. 1 : 2 : 3  C. 3 : 1 : 2  D. 1 : 3 : 2 
Xh; $k;G> Xh; miu Nfhsk; kw;Wk; Xh; cUis %d;Wk; xNu msitf; nfhz;l 
mbgFjpiaAk;> rkkhd cauj;ijAk; ciladtha; cs;sd.  ,jd; fd 
msTfspd; tpfpjk; fhz;f. 
A. 3 : 2 : 1  B. 1 : 2 : 3  C. 3 : 1 : 2  D. 1 : 3 : 2 
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72. The sum of radius of the base and height of a cylinder is 37 cm. If the total surface 
area of cylinder is 1628 cm2. Find volume of the cylinder.  
A. 3620 cm2  B. 4800 cm2  C. 4620 cm2  D. 5400 cm2 
xU cUisapd; mbgf;f Muk; kw;Wk; cauj;jpd; $Ljy; 37 nr.kP. cUisapd; 
nkhj;j Nkw;gug;G 1628 r.nr.kP vdpy; cUisapd; fdmsT fhz;f 
A. 3620 cm2  B. 4800 cm2  C. 4620 cm2  D. 5400 cm2 

 
73. A rectangular sheet of metal foil with dimension 66 cm x 12 cm is rolled to form a 

cylinder of height 12 cm. Find the volume of the cylinder. 
A. 2258 cm3  B. 4158 cm3  C. 3008 cm3  D. 1258 cm3 

66nr.kP  12 nr.kP vDk; msTf; nfhz;l xU cNyhfj; jfl;bid 12nr.kP 
cauKs;s xU cUisahf khw;wpdhy; fpilf;Fk; cUisapd; fd msitf; 
fhz;f. 
A. 2258 cm3  B. 4158 cm3  C. 3008 cm3  D. 1258 cm3 

 
74. The relation between the volume V of a sphere of radius r and its surface area S 

is….. 

A. 
2

V= rS
3

   B. 
r

V= S
3

  C. 
4

V= Sr
3

   D. V=4S 

r Muk; nfhz;l Nfhsj;jpd; fdmsTf;Fk; (V) mjd; tisgug;gpw;Fk; (S) cs;s 
njhlh;gpidf; $Wf. 

A. 
2

V= rS
3

   B. 
r

V= S
3

  C. 
4

V= Sr
3

   D. V=4S 

 
75. The radius of a metallic solid sphere is 8cm. it is melted and casted into small 

spheres each of radius 2cm. what will be the number of such small spheres? 
A. 64   B. 48   C. 32   D. 16 
xU cNyhf jpl Nfhsj;jpd; Muk; 8 nrkP.  mJ cUf;fg;gl;L 2 nrkP Muk; 
nfhz;l rpwpa Nfhsq;fshf cUthf;fg;gLfpwJ.  mj;jifa rpwpa Nfhsq;fspd; 
vz;zpf;if vd;d? 
A. 64   B. 48   C. 32   D. 16 
 

76. Which of the following states do not have Tiger Reserves in India? 
A. Kerala     B. West Bengal 
C. Uttarkahand    D. Jammu and Kashmir 

 fPo;f;fz;l khepyq;fspy; Gypfs; ghJfhg;ghfk; ,y;yhj ,e;jpa khepyk; vJ? 
 A. Nfush     B. Nkw;F tq;fhsk; 
 C. cj;jufhz;l;    d. [k;K kw;Wk; fh~;kPh; 

 
77. The first national park in India was 
 A. Corbett National park   B. Bandipur National Park 
 C. Rajiv Gandhi National Park  D. Indira Gandhi National Park 
 ,e;jpahtpd; Kjy; Njrpa g+q;fh 
 A. fhh;ngl; Njrpa g+q;fh   B. ge;jpg+h; Njrpa g+q;fh 
 C. uh[Pt; fhe;jp Njrpa g+q;fh  D. ,e;jpuh Njrpa g+q;fh 
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78. Name the first elected woman who become the Deputy speaker of Madras 
Legislative Assembly during the Ministry of Rajaji 
A. Radhabai  Subbaroyan B. Ammu  Swaminathan  
C. Muthulakshmi  Reddi  D. Rukmani  Lakshmi Pathi 
,uh[h[p mikr;ruitapy nrd;id rl;lrigf;F Kjd; Kiwahf Njh;T 
nra;ag;gl;l ngz;; Jiz rgh ehafu; ahh;? 
A. uhjhgha; Rg;guhad;  B. mk;K Rthkpehjd;  

C. Kj;Jyl;Rkp nul;b  D. Uf;Fkzp nyl;Rkpgjp 
 
79. "India Home Rule Society" was set up by 

A. Hardayal     B. Shyamji Krishnavarma   
C. Madan Lai Dhingra   D. V.D. Savarkar 
“,e;jpa N`hk; &y; nrhirl;b” vDk; mikg;ig cUthf;fpath; 
A. `h;jahy;    B. rpahk;[p fpU~;zth;kh  

C. kjd;yhy; jpq;fuh   D. V.D. rthh;f;fh;  
 
80. Who was instrumental in bringing the Extremists and the moderates together at 

Lucknow?  
A. Lala Lajapathi Rai    B. Annie Besant  
C. Gopala Krishna Gokhale  D. Balagangadhar Tilak 
yf;Ndhtpy;> kpjthjpfSk;> jPtputhjpfSk; xUq;fpizaf; fhuzkhf ,Ue;jth; ahh;? 
A. yhyh y[gjpuha;   B. md;dp ngrd;l; 
C. Nfhghy fpU~;z NfhfNy  D. ghyfq;fhju jpyfh; 

 
81. Which one of the following chronological sequence is correct? 

A. Swadeshi Movements, Home Rule League, Simon Commission, Indian National 
Army    

B. Home Rule League, Swadeshi Movement, Simon Commission, Indian National 
Army 

C. Swadeshi Movement, Home Rule League, Indian National Army, Simon 
Commission 

D. Swadeshi Movement, Simon Commission, Home Rule League, Indian National 
Army 

gpd;tUk; njhlh;fspy; rhpahd fhy thpirnjhlh; vJ? 
A. RNjrp ,af;fk;> jd;dhl;rp rq;fk;> irkd; FO> ,e;jpa Njrpa ,uhZtk; 
B. jd;dhl;rp rq;fk;> RNjrp ,af;fk;> irkd; FO> ,e;jpa Njrpa ,uhZtk; 
C. RNjrp ,af;fk;> jd;dhl;rp rq;fk;> ,e;jpa Njrpa ,uhZtk;> irkd; FO 
D. RNjrp ,af;fk;> irkd; FO> jd;dhl;rp rq;fk;> ,e;jpa Njrpa ,uhZtk; 

 
82. Match List I with List II and select correct answer using the code given below: 
 a. Bhagat Singh  1. Kakori Conspiracy Case 

b. Ramprasad Bismil 2. Chittagong Armoury Raid 
c. Udham Singh  3. Lahore Conspiracy Case 
d. Surya Sen   4. Murder of Michael O Dyer 



 

21 | Page PH: 24339436, 42867555, 9840226187 

 

 a b c d 
A. 4 1 2 3    
B. 1 3 2 4   
C. 3 1 4 2  
D. 3 2 4 1 
thpir I-I thpir II cld; nghUj;Jf. 

thpir I    thpir II 
A. gfj; rpq;   1. fNfhhp rjp tof;F    

B. uhk; gpurhj; gp];kpy;  2. rpl;lfhq; MAj fplq;F jhf;Fjy;    

C. cj;jk; rpq;  3. yh$h; rjp tof;F   
D. #hpah nrd;  4. ikf;Nfy; X lah; nfhiy 
 a b c d 
A. 4 1 2 3    
B. 1 3 2 4   
C. 3 1 4 2  
D. 3 2 4 1 

 
83. List out the Chairman of the election commission in the chronological order: 

1. T.S. Krishna Murthy  2. T.N. Seshan 
3. S.P. Senverma   4. Smt. V.S. Rama Devi 
A. 3, 4, 2, 1    B. 4, 3, 2, 1  C. 4, 3, 1, 2   D. 4, 1, 2, 3 
Njh;jy; FOtpd; jiyth;fis thpirg;gb gl;baypLf 
1. b.v];. fpU~;z %h;j;jp 2. b.vd;. Nr~d; 
3. S.P. nrd; th;kh   4. jpUkjp. tp.v];. ukhNjtp 
A. 3, 4, 2, 1    B. 4, 3, 2, 1  C. 4, 3, 1, 2   D. 4, 1, 2, 3 

 

84. Which article of the Indian Constitution declares that ―the elections to the House of 
people and to the legislative assembly of every state shall be on the basis of adult 
suffrage‖? 
A. Article 324 B. Article 326 C. Article 324(1)  D. Article 325(2) 
kf;fsit kw;Wk; khepy muR Njh;jy;fs; taJilNahh; thf;Fhpik Kiw %yk; 
Njh;e;njLf;f Ntz;Lk; vd;W typAWj;Jk; ,e;jpa murpayikg;G tpjp vJ? 
A. rl;lf;$W  324 B. rl;lf;$W 326 C. rl;lf;$W 324(1)  D. rl;lf;$W 325(2) 

 

85. A certain sum of money amounts to ì 8,880 in 6 years and ì 7,920 in 4 years 
respectively. Then its principal is 
A. ì 7,500   B. ì 6,000  C. ì 8,000      D. ì 4,530 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; ì 8,880 MfTk;> 4 Mz;Lfspy; 7>920 
MfTk; khWfpwJ mry; vd;gJ  
A. ì  7,500  B. ì 6,000  C. ì 8,000  D. ì 4,530 

 

86. Gain or loss percent is always calculated on 
  A. cost price  B. selling price  C. gain  D. loss 
  ,yhg my;yJ el;l rjtPjk; vg;nghOJk; vjd; Nky; fzf;fplg;gLfpwJ? 
  A. mlf;f tpiy B. tpw;gid tpiy  C. ,yhgk;  D. el;lk; 
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87. A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He then 
sold it for Rs. 1,400. Find his gain or Loss percentage 
A. Loss 6.67%  B. Gain 6.67%  C. Loss 20%  D. Loss 6% 
xU egh; xU gioa kjp tz;bia & 1,250 f;F thq;fpdhh;. mjid rPh;gLj;j &. 
250 nryT nra;jhh;. mth; mjid &. 1,400 f;F tpw;whh;. mtUila yhgk; my;yJ 
el;lj;ij fhz;. (rjtPj;jpy;)  
A. 6.67% el;lk;   B. 6.67% yhgk;   C. 20% el;lk; D. 6% el;lk;  

 
88. There are 800 soldiers in an army camp.  There is enough provisions for them for 60 

days.  If 400 more soldiers join the camp for how many days will the provisions 
last? 
A. 40 days   B. 22 days  C. 21 days  D. 15 days 
xU uhZt Kfhkpy; 800 tPuh;fs; ,Uf;fpwhh;fs;. mth;fSf;F 60 ehl;fSf;F 
NghJkhd kspif rhkhd;fs; cs;sd. me;j Kfhkpw;F NkYk; 400 tPuh;fs; te;J 
Nrh;e;jhh;fs; vdpy;> vj;jid ehl;fSf;F me;j kspif rhkhd;fs; NghJkhdjhf 
,Uf;Fk;? 
A. 40 ehl;fs;  B. 22 ehl;fs; C. 21 ehl;fs; D. 15 ehl;fs; 

 
89. A train covers a distance of 195 km in 3 hrs.  At the same speed, the distance 

travelled in 5 hours is _______. 
A. 195 km  B. 325 km  C. 390 km  D. 975 km 
xU ,uapy; tz;b 195 fpNyhkPl;lh; J}uj;ij 3 kzp Neuj;jpy; flf;fpd;wJ. mNj 
Ntfj;jpy;> me;j ,uapy; tz;b 5 kzp Neuj;jpy; flf;Fk; J}uk;  
A. 195 fp.kP  B. 325 fp.kP  C. 390 fp.kP  D. 975 fp.kP  

 
90. Choose the correct hierarchy of the Election machinery at the state level for 

conducting parliamentary and assembly elections.  
1. Chief Electoral Officer  2. Presiding Officer  
3. Returning officer   4. Polling officer  
A. 1, 2, 3, 4  B. 1, 3, 2, 4  C. 1, 4, 2, 3  D. 1, 3, 4, 2 
khepy mstpy ghuhSkd;w kw;Wk; rl;lkd;w Njh;jy;fis elj;Jtjw;fhd Njh;jy; 
,ae;jpuj;jpd; rhpahd mjpfhu gbepiy thpiria Njh;e;njLf;f. 
1. Kjd;ik Njh;jy; mjpfhhp  2. thf;Fr;rhtb jiyik mjpfhhp 
3. Njh;jy; nghWg;G mYtyh; 4. thf;Fg;gjpT mjpfhhp 
A. 1, 2, 3, 4  B. 1, 3, 2, 4  C. 1, 4, 2, 3  D. 1, 3, 4, 2 

 
91. Which of the following electoral systems have been adopted for various elections in 

India?  
1. System of direct election on the basis of adult suffrage.  
2. System of proportional representation by means of the single transferable vote.  
3. List system of proportional representation 
4. Cumulative system of indirect elections.  
Select the correct answer from the codes given below:  
codes:  
A. 1 and 2  B. 1 and 3  C. 1, 2 and 3  D. 2, 3 and 4 
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,e;jpahtpy; ele;j gy;NtW Njh;jy;fspy; gpd;gw;wg;gl;l Njh;jy; Kiw vJ?  
1. taJ te;NjhUf;fhd Neub Njh;jy; Kiw  
2. xw;iwkhw;Wthf;fspf;f tif nra;ag;gl;ltpfpjhr;rhu gpujpepjpj;Jt Kiw  
3. tpfpjhr;rhu gpujpepjpj;Jt Kiw  
4. kiwKf Njh;jy; mLf;F Kiw  
fPNo nfhLf;fg;gl;Ls;s thpirapd; rhpahd tpilia Njh;e;J vLf. 
A. 1 kw;Wk; 2  B. 1 kw;Wk; 3 C. 1> 2 kw;Wk; 3 D. 2> 3 kw;Wk; 4 

 
92. Who said that, ―The office of the Comptroller and Auditor General of India shall be 

the most important under the Constitution of India‖? 
A. Dr. D.R. Ambedkar    B. Jawaharlal Nehru  
C. Vallabhai Patel     D. Dr. Rajendra Prasad 
“,e;jpa murpayikg;gpd; fPo; ,e;jpahtpd; jiyik fzf;F kw;Wk; jzpf;if 
mjpfhhp mYtyfk; kpf Kf;fpakhdJ” vd;W $wpath; ahh;?  
A. lhf;lh; gp.Mh;. mk;Ngj;fh;  B. [t`h;yhy; NeU  
C. ty;ygha; gNly;   D. lhf;lh;. ,uhN[e;jpu gpurhj;  

 
93. Which type of respiration takes place during fermentation? 

A. Aerobic respiration   B. Photo respiration 
C. Dark respiration    D. Anaerobic respiration 
fPo; fhzg;gLgitfSs; vt;tif Rthrk; nehjpj;jypd; NghJ eilngWfpwJ? 
A. fhw;W Rthrk;    B. xspr; Rthrk;  
C. ,Ul; Rthrk;    D. fhw;wpy;yh Rthrk;   

 
94. Complete the given equation of oxidation of glucose. 

6 2 6 26 ______C H O O   

A. 2 23 2CO H O Kcal      B. 2 23 6CO H O Kcal   

C. 2 26 6CO H O Kcal      D. 2 26 2CO H O Kcal   
fPNo nfhLf;fg;gl;Ls;s FSf;Nfh]; Mf;]p[Ndw;wk; rkd;ghl;bid G+h;j;jp nra;f. 

6 2 6 26 ______C H O O   

A. 2 23 2CO H O Kcal      B. 2 23 6CO H O Kcal   

C. 2 26 6CO H O Kcal      D. 2 26 2CO H O Kcal   
 

95. ''-cells of Islets of Langerhans secrete 
A. Glucagon         B. Insulin   
C. Somatostatin     D. Calcitonin 

Inyl;]; Mg; yhq;fh;N`d;]py; cs;s  nry;fs; Ruf;Fk; `hh;Nkhd;  
A. FSf;fhfhd;  B. ,d;Rypd;  
C. NrhNkNlhNrl;bd; D. fhy;rpNlhdpd; 
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96. Match the following List I with List II.  Choose the correct answer. 
  List I    List II 

a. Junjiu Huang  1. Created artificial blood vessel 
b. Alexander Khalessi 2. Developed ten new antibodies to fight cancer 
c. Fraser Stoddart  3. Editing genes of human embryos 
d. Peter Kristensen  4. Artificial molecular pump 
 a b c d 
A. 4 3 2 1   
B. 1 4 3 2    
C. 3 1 4 2   
D. 2 1 3 4 
gl;bay; I-Tld; gl;bay; II-I ,izj;J rhpahd tpilia njhpe;njLf. 
  gl;bay; I    gl;bay; II 
a. Rd;[pA Fthq;  1. nraw;if ,uj;j ehsk; cUthf;fpdhh;   

b. mnyf;]hz;lh; fnyrp 2. Gw;W Nehia Fzg;gLj;Jk; gj;J Neha; caph; 
nfhy;ypia cUthf;fpdhh;   

c. gpuh]h; ];lhlh;l; 3. kdpj fUKisapd; kugZit gjpg;gpj;jhh; 
d. gPl;lh; fphp];ld;rd; 4. nraw;if mZj;jpuz;k Foha; 

 a b c d 
A. 4 3 2 1   
B. 1 4 3 2    
C. 3 1 4 2   
D. 2 1 3 4 

 
97. Which hormone is called as fight, flight and fright hormone? 

A. Epinephrine  B. Glucagon   
C. Thyroxine  D. Vasopressin 
ve;j `hh;Nkhd; Nfhgk;> Xl;lk; kw;Wk; gaKWj;jy; `hh;Nkhd; vd;W miof;fg; 
gLfpwJ? 
A. vgpne/ghpd;  B. FSf;Nfhfhd;   

C. ijuhf;]pd;  D. thN]hg;gpu];]pd; 
 
98. Name the Indian origin who has been appointed as the Britain‘s home secretary? 

A. Priti Patel   B. Kishen Narsi 
C. Ajay Kumar Bhalla  D. Manoj Mukund Naravane 
,q;fpyhe;jpd; cs;Jiw mikr;ruhf epakpf;fg;gl;Ls;s ,e;jpa tk;rhtspia 
Nrh;e;jth; ahh;? 
A. gphPj;jp gl;Nly;   B. fp~d; eh;rp 
C. m[a; Fkhh; gy;yh  D. kNdh[; KFe;j; euthNd 

 
99. Who has been appointed as the governor of Nagaland? 

A. Anusuiya Vikey  B. Ajay Bhadoo 
C. R.N. Ravi    D. Phagu Chauhan 
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ehfyhe;jpd; MSeuhf epakpf;fg;gl;Ls;sth; ahh;? 
A. mDRah tpNf   B. m[a; g^ 

C. R.N. utp    D. gF nrs`hd; 
 

100. India‘s first elephant Rehabilitation Centre was launched in which state of India? 
A. Odisha  B. Kerala  C. Meghalaya D. Arunachal Pradesh 
,e;jpahtpd; Kjy; ahidfs; kWtho;T ikak; ve;j ,e;jpa khepyj;jpy; 
mikaTs;sJ? 
A. xbrh  B. Nfush  C. Nkfhyah D. mUzhr;ryg;gpuNjrk; 

 
101. A book contains 120 pages.  Each page has 35 lines.  How many pages will the book 

contain if every page has 24 lines per page? 
A. 170  B. 172  C. 174  D. 175 
xt;nthU gf;fj;jpYk; 35 thpfisf; nfhz;l Gj;jfj;jpd; nkhj;j gf;fq;fs; 120. 
mNj nra;jp xt;nthU gf;fj;jpYk; 24 thpfshf ,Ue;jhy;> Gj;jfj;jpd; nkhj;j 
gf;fq;fs; vt;tsthf ,Uf;Fk;? 
A. 170  B. 172  C. 174  D. 175 

 
102. 150 men can finish a piece of work in 12 days. How many days will 120 men take to 

finish the same work? 
A. 12 days  B. 16 days   C. 14 days  D. 15 days 
xU Ntiyia 150 Ml;fs; 12 ehl;fspy; Kbj;JtpLthh;fs;. 120 Ml;fs; mNj 
Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 
A. 12 ehl;fs; B. 16 ehl;fs; C. 14 ehl;fs; D. 15 ehl;fs; 

 
103. Ram bought 36 mangoes, 5 mangoes were rotten.  What is percentage of the 

mangoes that were rotten? 
A. 12.99%   B. 13.89%   C. 13.79%   D. 13.59% 
uhk; thq;fpa 36 khk;goq;fspy;> 5 khk;goq;fs; mOfptpl;ld vdpy;> mOfpa 
khk;goq;fspd; rjtPjj;ijf; fhz;f.  
A. 12.99%   B. 13.89%   C. 13.79%   D. 13.59% 

 
104. There are 250 students in a school. 55 students like basketball, 75 students like 

football, 63 students like throw ball, while the remaining like cricket, what percent 
of students like basketball? 
A. 32%  B. 42%  C. 12%  D. 22% 

250 khztu;fs; cs;s xU gs;spapy;> 55 khztu;fs; $ilg; ge;ijAk; 75 
khztu;fs; fhy;ge;ijAk;> 63 khztu;fs; vwpge;ijAk; kPjKs;stu;fs; 
fpupf;nfl;ilAk; tpUk;Gfpd;wdu; vdpy; $ilg;ge;ij tpUk;Gk; khztu;fspd; rjtPjk; 
vd;d? 
A. 32%  B. 42%  C. 12%  D. 22% 

 
105. A shop keeper purchased 100 ball pens for `250.  He sold each pen for `4.  Find the 

profit percent. 
A. 40%   B. 50%   C. 60%  D. 58% 
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xU filf;fhuh; 100 Ngdhf;fis `250f;F thq;Ffpwhh;. xU Ngdh `4f;F tpw;fpwhh;. 
,yhg rjtPjj;ijf; fhz;f.  
A. 40%   B. 50%   C. 60%  D. 58% 

 
106. Which state has recorded highest number of tigers according to the 2018 Tiger 

Census report? 
A. Tamilnadu B. Madhya Pradesh C. Chhattisgarh D. Mizoram 
2018Mk; Mz;L Gypfs; fzf;nfLg;gpd;gb ve;j khepyk; mjpf Gypfs; 
vz;zpf;ifia nfhz;Ls;sJ? 
A. jkpo;ehL  B. kj;jpagpuNjrk;  C. rl;b~;fh;  D. kpNrhuk; 

 
107. Which state has become the first Indian state to have water policy? 

A. Gujarat  B. Meghalaya  C. Tripura  D. West Bengal 
ePh;nfhs;ifia nfhz;Ls;s Kjy; ,e;jpa khepyk; vJ? 
A. F[uhj;  B. Nkfhyah   C. jphpGuh  D. Nkw;F tq;fk; 
 

108. The first-ever global conference for media freedom was held in which country? 
A. United states  B. India  C. Japan  D. London 
Clf Rje;jpuw;fhd Kjy; cyf khehL ve;j ehl;by; eilngw;wJ? 
A. mnkhpf;fh  B. ,e;jpah  C. [g;ghd;  D. yz;ld; 

 
109. The technique that reduces the amount of water consumption in crop cultivation is 
 A. Hydroponics    B. Automated Irrigation 
 C. Macro Irrigation   D. Micro Irrigation 
 tptrhaj;jpw;F gad;gLj;jg;gLk; ePhpid rpr;fdkhf gad;gLj;Jk; El;gk; 
 A. i`l;NuhNghdpf;];   B. jhdpaq;Fk; ePh;ghrdk; 
 C. nghpastpyhd ePh;ghrdk;  D. rpwpastpyhd ePh;ghrdk; 

 
110. The scientist who proposed Big Bang Theory was 

A. Lemaitre    B. Edwin Hubble 
C. Nicholas Copernicus  D. Aryabhatta 
ngU ntbg;G Nfhl;ghl;il Kjd; Kjypy; ntspapl;lth; 
A. yNka;l;nlh;   B. vl;tpd; `g;y; 
C. epf;Nfhy]; Nfhgh;epf]; D. Mhpagl;lh 
 

111. The windiest planet is 
A. The Saturn B. The Neptune C. The Jupiter  D. The Mars 
fhw;W mjpfkhf cs;s Nfhs; vJ? 
A. rdp  B. neg;ba+d;  C. tpahod;  D. nrt;tha; 
 

112. The sun appears to be the closest to the earth on 
A. January 3  B. July 4  C. September 5 D. December 4 
#hpad; Gtpf;F kpf mUfpy; fhzg;gLk; ehs; 
A. [dthp 3  B. [{iy 4  C. nrg;lk;gh; 5 D. brk;gh; 4 
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113. Expand – UNFCCC 
A. United Nations Framework Convention on Climate Change 
B. United Nations Framework Conference on Climate Change 
C. United Nations Forum Convention on Climate Change 
D. United Nations Forum Conference on Climate Change 
tphpthf;fk; jUf 
A. United Nations Framework Convention on Climate Change 
B. United Nations Framework Conference on Climate Change 
C. United Nations Forum Convention on Climate Change 
D. United Nations Forum Conference on Climate Change 

 
114. Who was the founder of Indian Labour Party in 1937? 

A. M.N. Roy   B. Charu Mazumdar 
C. Jayaprakash Narayan  D. Ambedkar 
,e;jpa njhopyhsh; fl;rpia 1937y; cUthf;fpath; ahh;? 
A. vk;.vd;. uha;   B. rhU k#k;jhh; 
C. n[agpufh~; ehuhaz;  D. mk;Ngj;fh; 

 
115. V.O. Chidambaram Pillai was born on 

A. September 5th, 1872  B. October 5th, 1872 
C. December 5th, 1873  D. September 5th, 1873 
t.c. rpjk;guk; gps;is gpwe;j ehs; 
A. nrg;lk;gh; 5> 1872  B. mf;Nlhgh; 5> 1872  
C. brk;gh; 5> 1873   D. nrg;lk;gh; 5> 1873 

 
116. Name the social reformer who supported Dr. Muthulakshmi Reddy for the  

 abolition of Devadasi system. 
A. E.V. Ramasamy   B. T.M. Nair   
C. C.N. Anna Durai  D. Natesa Mudaliar 
Dr. Kj;Jyl;Rkp nul;bf;F Njtjhrp Kiwia xopg;gjw;F MjuT nfhLj;j r%f 
rPh;jpUj;jthjpapd; ngah;  
A. <.nt. uhkrhkp     B. T.M. ehah;  
C. rp.vd;. mz;zhJiu   D. eNlr Kjypahh; 

 
117. Who called Periyar as ‗Vaikkam Hero‘? 

A. Gandhi    B. Thiru Vi.Ka 
C. Dr. Muthulakshmi Reddy D. Anna 
nghpahiu „itf;fk; tPuh;‟ vd mioj;jth; ahh;? 
A. fhe;jp    B. jpU.tp.f 
C. Dr. Kj;Jyl;Rkp nul;b D. mz;zh 
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118. When was the tri-colour flag of freedom hoisted? 
A. December 31, 1929  B. March 12, 1930 
C. January 26, 1930  D. January 26, 1931 
tpLjiyf;fhd %th;zf; nfhb Vw;wg;gl;l ehs;? 
A. brk;gh; 31> 1929   B. khh;r; 12> 1930 
C. [dthp 26> 1930  D. [dthp 26> 1931 

 
119. Sathish sold a camera to Rajesh at a profit of 10%. Rajesh sold it to John at a loss of 

12%. If John paid Rs. 4,840, at what price did Sathish buy the camera? 
A. Rs. 5,000  B. Rs. 4000   C. Rs. 5500       D. Rs. 5200 
rjP~; xU Nfkuhit uhN[~plk; 10% ,yhgj;jpw;F tpw;whh;.  uhN[~; mjid 

[hdplk; 12% el;lj;jpw;F tpw;whh;.  [hd; &.4,840f;F thq;fpapUe;jhy;. me;j 
Nfkuhit rjP~; vd;d tpiyf;F thq;fpdhh;? 
A. Rs. 5,000  B. Rs. 4000   C. Rs. 5500       D. Rs. 5200 

 

120. Find the rate percent at which, a sum of money becomes 
9

4
times in 2 years. 

A. 62.5%  B. 32.5%  C. 12.5%  D. 58.5% 

xU mryhdJ 2 tUlj;jpy; 
9

4
 klq;fhf MFnkdpy;> mjd; tl;b tpfpjk; vt;tsT? 

A. 62.5%  B. 32.5%  C. 12.5%  D. 58.5% 
 

121. Find the rate percent per annum when a principal of Rs. 7,000 earns a S.I. of Rs. 
1,680 in 16 months. 
A. 19%  B. 18%  C. 20%  D. 21% 
Rs. 7,000 mrYf;F 16 khjq;fspy; &.1>680 jdptl;b fpilj;jhy;> tl;b tPjj;ijf; 
fz;L gpb. 
A. 19%  B. 18%  C. 20%  D. 21% 

 

122. If a plant grows 
3

5
cm in an hour, than its height after 

1
2

2
days is ____. 

A. 
6

10
cm   B. 30 CM  C. 35 CM  D. 36 CM 

xU jhtuk; 1 kzp Neuj;jpy; 
3

5
nr.kP. cauk; tsh;fpwJ vdpy; 

1
2

2
ehl;fSf;F gpwF 

mj;jhtuj;jpd; cauk; _______. 

A. 
6

10
cm   B. 30 CM  C. 35 CM  D. 36 CM 

 
123. A : B = 5 : 8; B : C = 24 : 30 then A : B : C is 

A. 5 : 24 : 30   B. 15 : 24 : 30  C. 8 : 24 : 30   D. 5 : 8 : 30 
A : B = 5 : 8; B : C = 24 : 30  vdpy; A : B : C  -d; kjpg;G 
A. 5 : 24 : 30   B. 15 : 24 : 30  C. 8 : 24 : 30   D. 5 : 8 : 30 
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124. State Vigilance Commission was established in  
A. 1965  B. 1964  C. 1962   D. 1960 
khepy Coy; fz;fhzpg;G Mizak; cUthf;fg;gl;l Mz;L ________ 
A. 1965  B. 1964  C. 1962   D. 1960 

 
125. Which of the following is note correctly matched? 

A. Central Bureau of Investigation – 1963 
B. Special Police Establishment – 1942 
C. Prevention of Corruption Act – 1947 
D. Central Vigilance Commission – 1964 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fhz;f 
A. kj;jpa Gydha;T Jiw – 1963 
B. rpwg;Gf; fhty; mikg;G – 1942 
C. Coy; jLg;Gr; rl;lk; - 1947 
D. kj;jpa fz;fhzpg;G Mizak; - 1964 

 

126. Which among the following is incorrect? 
A. Article 316 – Public Service Commission 
B. Article 320 – Function of Public Service Commission 
C. Article 323 – Reports of Public Service Commission 
D. None of these 
jtwhd ,iziaf; fhz;f 
A. rl;lf;$W 316 – gzpahsh; Njh;thizak; 
B. rl;lf;$W 320 – gzpahsh; Njh;thizaj;jpd; gzpfs; 
C. rl;lf;$W 323 - gzpahsh; Njh;thizaj;jpd; mwpf;iffs; 
D. ,it VJkpy;iy 

 

127. The NDA Government scrapped planning commission on 
A. 12 August 2014   B. 13 August 2014 
C. 14 August 2014   D. 15 August 2014 
Njrpa [dehaf $l;lzp muR jpl;lf;FOit KbTf;F nfhz;L te;j Mz;L 
A. 12 Mf];l; 2014  B. 13 Mf];l; 2014 

C. 14 Mf];l; 2014  D. 15 Mf];l; 2014 
 

128. Consider the following 
Assertion (A): Finance Commission consists of a chairman and four other members 
Reason (R): The Qualification of members of the commission are determined by the 
President 
A. Both (A) and (R) are true  B. (A) is true but (R) is false  
C. Both (A) and (R) are false   D. (A) is false but (R) is true  
gpd;tUtdtw;iw Ma;f 
$w;W (A): epjpf;FO xU jiytiuAk; ehd;F cWg;gpdh;fisAk; nfhz;Ls;sJ 

fhuzk; (R): cWg;gpdh;fspd; jFjpia jPh;khdpg;gth; FbauR jiytuhthh; 

A. A kw;Wk; R rhp    B. A rhp kw;Wk; R jtW 
C. A kw;Wk; R jtW   D. A jtW R rhp 
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129. Human insulin has a molecular weight of  
A. 28,000 daltons   B. 5,700 daltons   
C. 2,000 daltons   D. 5,808 daltons 
kdpj ,d;Rypd; %yf;$w;wpd; vilahdJ 
A. 28>000 lhy;ld;fs;   B. 5>700 lhy;ld;fs;  
C. 2>000 lhy;ld;fs;   D. 5>808 lhy;ld;fs;  

 
130. In which organ the RBC is synthesized? 

A. Spleen  B. Bone marrow           C. Liver   D. Heart 
,tw;wpy; ve;j cWg;gpy; ,uj;j rptg;G epw nry;fs; cUthfpd;wd? 
A. kz;zPuy;  B. vYk;G k[;i[   C. fy;yPuy;   D. ,jak;  

 
131. Prothrombin is synthesized in  

A. Liver  B. Spleen  C. Pancreas   D. Kidney 
GNuhj;uhk;gpd; vjpy; cUthf;fg;gLfpwJ? 
A. fy;yPuy;  B. kz;zPuy;  C. fizak;  D. rpWePufk; 

 
132. Which is not correct to the matches of blood cells and functions? 

A. Lymphocyte  -  Antibody     
B. Platelets   -  Blood clotting    
C. Eosinophil   -  Antihistamine    
D. Monocyte  -  Heparin 
fPNo nfhLf;fg;gl;Ls;s ,uj;j mZf;fSk; mjd; Ntiyfspd; nghUj;jj;jpy; vit 
jtwhdit? 
A. ypk;Nghirl;  -  Md;bghb   

B. gpNsl;nyl;];  -  ,uj;jk; ciwjy;    

C. <rpNdhgps;  -  `p];lkpd; vjphp    
D. NkhNdhirl;  - `pg;Nghpd; 

 
133. Number of RBC's in a normal adult man per mm3 of blood is 

A. 5,000  B. 50,000  C. 5,00,000  D. 50,00,000 
MNuhf;fpakhd kdpj ,uj;jj;jpy; xU fd kpy;ypkPl;lh; mstpy; cs;s ,uj;j 
rptg;gZf;fspd; vz;zpf;if 
A. 5,000  B. 50,000  C. 5,00,000  D. 50,00,000 

 
134. Choose the correct answer from the codes given below: 

Hemoglobin is the iron containing metallo protein found in 
a. Leucocytes  b. Thrombocytes c. Plasma d. Erythrocytes 
A. Both (a) and (c)  B. Both (b) and (d)  C. (c) only  D. (d) only 
fPo;f;fz;l FwpaPLfspypUe;J rhpahd tpilia Njh;e;njL 
`PNkhFNshgpd; vd;w ,Uk;G cNyhfg; Gujk; fhzg;gLk; nry;fs; 
a. ,uj;j nts;isaZf;fs; b. JNuhk;Nghirl;Lfs; 
c. gpsh];kh    d. ,uj;j rptg;gZf;fs; 
A. (a) kw;Wk; (c)  B. (b) kw;Wk; (d) C. (c) kl;Lk;  D. (d) kl;Lk;  
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135. Consider the following statements 
1. The 2019 Non aligned Movement (NAM) Ministerial Meeting was held in 

Caracas, Venezuela 
2. India was represented by Indian envoy to United Nations Syed Akbaruddin 
Which of the above statement is not true? 
A. Statement 1  B. Statement 2  C. Both   D. None 
gpd;tUtdtw;iw Ma;f 
1. 2019Mk; Mz;bw;fhd mzpNruh ehLfspd; mikr;ruitf; $l;lk; fuhf];> 

ntdpRyhtpy; eilngw;wJ 
2. I.eh. rigf;fhd ,e;jpa gpujpepjpahf ira;aJ mf;gUjpd; gq;Nfw;whh; 
rhpahd $w;Wfis fhz;f 
a. 1   b. 2  c. ,uz;Lk;  d. ,uz;Lky;y 

 
136. Consider the following statement 

1. The first Civil Servant to scale Mount Denali the highest peak in North America 
is Aparna Kumar. 

2. She has also became the first woman civil servant to complete the South Pole 
expedition. 

Which of the above statement is not true? 
A. Statement 1  B. Statement 2 C. Both   D. None 
gpd;tUtdtw;iw Ma;f 
1. tl mnkhpf;fhtpd; nldhyp kiyapy; Vwpa Kjy; ,e;jpaf; Fbikg;gzpahsh; 

mgh;zh Fkhh; Mthh; 
2. njd; JUtj;ij mile;j Kjy; ngz; ,e;jpa Fbikg; gzpahsUk; ,th;jhd; 
rhpahd $w;Wfis fhz;f 
A. 1   B. 2  C. ,uz;Lk;  D. ,uz;Lky;y 

 
137. Who has won the Men‘s title at the 2019 Wimbledon Tennis Tournament? 

A. Roger Federer   B. Andy Murray 
C. Rafael Nadal   D. Novak Djokovic 
2019Mk; Mz;L tpk;gps;ld; nld;dprpy; Mz;fs; gphptpy; gl;lk; ntd;wth; ahh;? 
A. Nuh[h; ngluh;   B. Md;b Kh;Nu 

C. u/Ngy; ehly;   D. Nehtf; N[hNfhtpf; 
 

138. Who has won gold in Women‘s 200m at the Kutno Athletics Meet held in Poland? 
A. Dutee Chand   B. Hima Das 
C. Shiny Abraham  D. Poovamma  
Nghye;jpy; eilngw;w Fl;Ndh jlfsg;Nghl;bapy; 200 kP Nghl;bapy; jq;fk; ntd;wth; 
ahh;? 
A. ^b re;j;    B. `pkh jh]; 
C. irdp Mg;u`hk;  D. g+tk;kh 
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139. Which of the following Indian movie has won the Best feature Film award at the 
2019 SAARC film festival? 
A. Gully boy   B. Golden Boat 
C. Walking with the wind D. Nagarkirtan 
SAARC jpiug;gl tpoh 2019y; rpwe;j jpiug;glj;jpw;fhd tpUjpid ntd;w ,e;jpa 
jpiug;glk; vJ? 
A. fy;yp gha;   B. Nfhy;ld; Nghl; 
C. thy;fpq; tpj; j tpd;L  D. ehfh;fPh;j;jd; 

 
140. Who has been honoured with musicologist Award? 

A. Aarti N. Rao   B. Vyasarpadi Kothandaraman 
C. Priyadarshini Govind  D. Rajkumar Bharathi 

 ,ir fiyQh; tpUJ toq;fp nfsutpf;fg;gl;lth; ahh;? 
 A. Mh;j;jp N. uht;   B. tpahrh;ghb Nfhjz;luhkd; 
 C. gphpajh;~p Nfhtpe;j;  D. uh[;Fkhh; ghujp 

 
141. The plasma protein which helps in blood clotting is 

A. Globulin   B. Albumin   
C. Fibrinogen  D. Creatinine 
,uj;jk; ciwjYf;F Kf;fpa gq;F tfpf;Fk; gpsh];kh Gujk; 
A. FNshGypd;  B. My;Gkpd;  
C. igg;hpNdh[d;  D. fphpahl;bdpd; 
 
 

142. Which one of these are called polymorpho nuclear leucocytes? 
A.T-Lymphocytes  B. Neutrophils  
C. B.Lymphocytes  D. Monocytes 
,tw;wpy; vJ ghypkhh;Ngh epAf;spahh; ypA+Nfhirl;fs; vdg;gLfpd;wd? 
A. T-ypk;Nghirl;fs; B. epA+l;Nuhgpy;fs;  
C. B-ypk;Nghirl;fs; D. NkhNdhirl;fs; 

 
143. Colostrum is rich in which class of these antibodies? 

A. IgA   B. IgE  C. IgG  D.IgM 
rPk;ghypy; ve;j tif vjph;nghUl;fs; mjpfkhf fhzg;gLfpd;wd? 
A. IgA   B. IgE  C. IgG  D. IgM 

 
144. Which of the following does not play a role in blood clotting? 

A. Fibrinogen  B. Platelets    
C. Thrombin  D. Albumin 
,tw;wpy; vit ,uj;j ciwjiy Vw;gLj;jhj xNu fhuzp?  
A. igg;hpNdh[d;  B. ,uj;jj; jl;Lfs;  
C. j;Nuhk;gpd;   D. my;Gkpd; 

 
 



 

33 | Page PH: 24339436, 42867555, 9840226187 

 

145. Which state has secured the top position in the NITI Aayog‘s 2019 ‗AMFFR‘ Index  
A. Gujarat   B. Rajasthan   
C. Maharashtra  D. Madhya Pradesh 
epjp MNahf;fpd; AMFFR FwpaPl;by; Kjyplk; ngw;w khepyk; vJ? 
A. F[uhj;   B. ,uh[];jhd; 
C. kfhuh~;buk;  D. kj;jpagpuNjrk; 

 
146. What is the position of India in 2019 global Innovation Index? 

A. 52  B. 59  C. 55   D. 62 
cyf GJikf;FwpaPl;by; 2019,y; ,e;jpahtpd; epiy 
A. 52  B. 59  C. 55   D. 62 

 
147. Which of the following state has achieved the top position in solar rooftop 

installations? 
A. Rajasthan  B. Kerala  C. Gujarat  D. Bihar 
ve;j khepyk; #hpa Nkw;$iu mikg;gjpy; Kjyplk; gpbj;J rhjid gilj;Js;sJ? 
A. ,uh[];jhd;  B. Nfush  C. F[uhj;  D. gPfhh; 

 
148. The GST Council has reduced GST Rate on Electrical Vehicles from 12% to – 

A. 5%   B. 6%   C. 7%   D. 8% 
GST FO kpd; thfdq;fSf;fhd ruf;F kw;Wk; Nrit thpia 12 rjtPjj;jpypUe;J 
______ Mf Fiwj;Js;sJ 

A. 5%   B. 6%   C. 7%   D. 8% 
 

149. The Book Autobiography ‗Lessons Life Taught me‘ unknowingly‘ was authored 
by? 
A. Arundati Roy   B. Anupham kher 
C. Meenakshi Lekhi  D. Krishna Saksena 
‗Lesson Life Taught me‘ unknowingly‘ vd;w Rarhpijapd; Mrphpah; ahh;? 
A. mUe;jjp uha;   B. mDgk; nfh; 

C. kPdhl;rp Nyf;fp   D. fpU~;zh rf;Nrdh 
 

150. The 2019 Hand – in Hand – the joint military exercise between India and China will 
be held in  
A. Assam   B. Meghalaya  C. Tripura   D. Sikkim 
Hand-in-Hand vd;w ,e;jpa-rPd ,uhZt $l;Lg;gapw;rp 2019Mk; Mz;L vq;F 
eilngwTs;sJ? 
A. m];]hk;  B. Nkfhyah   C. jphpGuh  D. rpf;fpk; 
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REFERENCE HALL ACCESS TEST – 2019 
GROUP I PRELIMINARY 

 
1 2 3 4 5 6 7 8 9 10 
C A D C D D B D B B 

11 12 13 14 15 16 17 18 19 20 
C B A C C D D C D D 

21 22 23 24 25 26 27 28 29 30 
C D B D B B B C A C 

31 32 33 34 35 36 37 38 39 40 
B A B C C C C B B D 

41 42 43 44 45 46 47 48 49 50 
A B A D B B D B D D 

51 52 53 54 55 56 57 58 59 60 
C C C A B A D C C D 

61 62 63 64 65 66 67 68 69 70 
C C D A A C A B B D 

71 72 73 74 75 76 77 78 79 80 
B C B B A D A D B B 

81 82 83 84 85 86 87 88 89 90 
A C A B B A A A B A 

91 92 93 94 95 96 97 98 99 100 
A A D C B C A A C B 

101 102 103 104 105 106 107 108 109 110 
D D B D C B B D D A 

111 112 113 114 115 116 117 118 119 120 
B A A D A A B A A A 

121 122 123 124 125 126 127 128 129 130 
B D B A B A B B D B 

131 132 133 134 135 136 137 138 139 140 
A D D D D D D B D A 

141 142 143 144 145 146 147 148 149 150 
C B A D C A C A B B 
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REFERENCE HALL ACCESS TEST – 2019 

GROUP I PRELIMINARY 
 

1 2 3 4 5 6 7 8 9 10 
C A D C D D B D B B 

11 12 13 14 15 16 17 18 19 20 
C B A C C D D C D D 

21 22 23 24 25 26 27 28 29 30 
C D B D B B B C A C 

31 32 33 34 35 36 37 38 39 40 
B A B C C C C B B D 

41 42 43 44 45 46 47 48 49 50 
A B A D B B D B D D 

51 52 53 54 55 56 57 58 59 60 
C C C A B A D C C D 

61 62 63 64 65 66 67 68 69 70 
C C D A A C A B B D 

71 72 73 74 75 76 77 78 79 80 
B C B B A D A D B B 

81 82 83 84 85 86 87 88 89 90 
A C A B B A A A B A 

91 92 93 94 95 96 97 98 99 100 
A A D C B C A A C B 

101 102 103 104 105 106 107 108 109 110 
D D B D C B B D D A 

111 112 113 114 115 116 117 118 119 120 
B A A D A A B A A A 

121 122 123 124 125 126 127 128 129 130 
B D B A B A B B D B 

131 132 133 134 135 136 137 138 139 140 
A D D D D D D B D A 

141 142 143 144 145 146 147 148 149 150 
C B A D C A C A B B 

 


